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MATHEMATICS
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Time Allawed : Two Hours and Thirty Minutes Maximum Marks ; 30|

INSTRUCTIONS

. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD
CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR
MISSING PAGES OR ITEMS, ETC. IF $O, GET IT REPLACED BY ACOMPLETE TEST BODKLET.

1. ENCODE CLEARLY THE TEST BOOKLET SERIES A, B, C OR.D AS THE CASE MAY BE IN
THE APPROPRIATE PLACE IN THE ANSWER SHEET.

Y You have to enter your Roll Number on the Test
Hooklet in the Box provided alongside. DO NOT write ]
amything elye on the Test Booklet.

4, This Test Booklet contains 120 items (questicns). Each item is printed both in Hindi and Englivk
Each item comprises four responses (answers). You will select the response which you want 1o mark
on the Answer Sheet. In case you feel that there s more than one correct response, mark the
response which you consider the best. In any case, choose ONLY ONE response for each item,

5. You have 1o mark all your responses ONLY on the separate Answer Sheel provided. See directions
in the Answer Sheet.

6. All iterns carry equal marks.

7. Before you proceed 1o mark in the Answer Sheet the respense to various items in the Test Booklet,
you have 1o fill in some particulars i the Answer Sheet as per instructions sent to you with your
Admission Certificate.

8. After you have completed filling in all your responses on the Answer Sheet and the
examination has concluded, you should hand over 10 the Invigilator only the Answer Sheer, You are
permitted to take away with you the Test Booklet.

9. Sheets for rough work are appended in the Test Booklet at the end.

10. Penalty for wrong smswers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE

OBIECTIVE'TYPE QUESTION PAPERS,

() There are four shematives for the answer to every question. For cach question for which a
wrong answer has been given by the candidaie, one-third (0-33) of the marks assigned 1o that
question will be deducted as penalty.

(i) 1f a candidate gives more than one answer, it will be treated as a wrong snswer even if one
of the given answers happens to be correct and there will be same penalty as above 1o that
Queition.

(i) IT a question is left blank, ic., no answer is given by the candidate, there will be
no penalty lor that question,

(DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED 10 DO SO)
ar ¥ wpe ® R e W e @ Rl oe wo o 2




www.eenadupratibha.net

What is the sum of the squares of the
rools of the equation x* + 2x - 43 =07
(a) 170
(b) 180
(©) 190
{d) 290

letU={xe N:12x 510} be the
universal sct, N being the set of
natural numbers. If A = {1, 2, 3, 4} and
B = {2, 3, 6 10} then what is the
complement of (A - B) 7

(a) {6, 10}

(b) {1, 4}

() {2,3,5,6,7,8910)

(d) {5,6,7 8 9,10}

The solution of the simultancous lincar
cquations 2x + y = 6 and 3y = 8 + dx will
also be satisfied by which onc of the
following linear equations 7

(8) x+y=3

b) 2x+y=9

(¢) Zx-3y=10

(d) x+3y=6

Let A= [x : x is a squarc of a natural
number and x is less than 100) and B is
2 set of even natural numbers. What s
the cardinality of A B 7

(a) 4

(b) §

(c) 9

(d) None of the above

If A-[; ij and H-(: z] then
what is determinant of AB ?
(a) 0

by 1

(c) 10

(d) 20

2012

-a® ab

8¢ I
Whatis | b -b® e | equal 10 ?
ac e -:::|
(a) dabc
(b) 4da’be
(c) 4albic?
(d) - 4a?blc?
What is the distance betwoen the lines

x+dy=9and 6x + By = 1§ 7
(@) 0

(b} 3 units

(c) 9 umits

(d) 18 umits

The number 292 in decimal system is
expressed in binary system by

(a) 100001010

(b) 100010001

(c) 100100100

(@) 101010000

What is the anthmetic mean of first 16
natural numbers with weights being the
number itsell ?

(a) 1712

{b) 3372

(c) N

{d) 18712

What is the mode for the data 20, 20, 20,
21,21,21,21,21,22, 22,22, 22,22, 22,
22,23,23,25,23,23,24, 24,257

(a) 7

(b) 21

(e) 22

(d) 25
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(a) 170

(k) 180

(c) 190

d) 290

wﬁl;-{:u:%#nsm;
N w

Ly uﬁ?:‘:l.z,.’-.l} !B =m
6,100 AWM (A-B) ™ Trx wn B ?
(a) (6, 10)

(b (I, 4}

(¢) {2,3,5,6,7,8,9, 10

(d) (5.6.7, 8,9, 10}

grey e wflwel 2x 4y = 6 W
Iy =8 + 4&x ® @ Preafvfm s
wiweh ¥ & Gw o N f wgw wom?
(a) x+y=$§

M) 2x+y=9

(€) 2x - Jy= 10

(d) 2x +3y=6

; m#ﬁh‘iﬁﬁ-lx-::ﬁlﬂ
wof ?oamx 100 ® 9 BpAUB
e gl W w2 AND W
mrEen e R 7

(a) 4

) 5

c) 9

@ %W A} A

1 2 10
e At[z !] e ﬂ-[l u]' a“l
AB = wtfie @ # 7
(a) ©
{b) 1|
(c). 10
() 20

i el
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frrd woat @7

-a' @b a

 -b
ac h:—r.:

(a) dabe
(b) 4a’be
() 4da’bic?
(d) - dalbic?

Tl x +dy =9 M Gx + 8y =18 B
e fugh=ag ?

(a) ©

(b) 3 wrd

(c) 9 vwrd

(d). 18 wrd

ommr v A wFen 292 W Raerh
it we oo Aaw B a2 7

{a) 100001010
(b) 100010001
() 100100100
(d) 101010000

TR 16 w1 = w1, Ree
f wed @, FWiTT @ W R
(a) 1772

(b) 332

() 1

(d) 18722

T &
4

atwsl 20, 20, 20, 21,
22,43, 22,22, 22, 22,
24, 24, 25 W1 T
(a) 7
{b) 21
{c) 22
(d) 25

21,21, 21, 22,
23, 23,23, 23,
7

21,
23,
B
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A and B are two matrices such that
AB = A and BA = B then what is B?
cqual to ?

(a) B

(b) A

(c) 1

d -1

where | is the identity matrix

The geometric mean and harmenic mean
of two non-negative observations are 10
and 8 respectively, Then what 1§ the
arithmetic mean of the observations equal
to ?

(a) 4

(b) 9
(e} 125
(d) 25

Consider the following statements :

1. A continuous randem variable can
take all values in an interval.

2. A random variable which takes 2 finite
number of values is neccssanly
discrete.

3. Construction of a fiequency
distribution is based on data which
are discrete. .

Which of the above statemenis are

correct ?

{a) | and 2 only

{b) 2 and 3 oniy

¢) 1| and 3 only

d) I,2and3

What is the n™ term of the sequence
1.5,% N, ... 7

(a) &n -1

(bppa * |

(¢) 4n -3

(d) None of the above

. &=

16.

17,

19.

What doecs the series

2012

143 2 +3+ﬂ§ ..., represent 7

(a) AP
(5) GP
{c) HP
(d) None of the aboye series

If p, q, r are in AP as well as GP, then
which one of the following is correct ?
(3) p=g=r
(b) p=q=u
()opeq®r
(d) p=g'=r

Whatis the perimeter of the trangle with
verlices A(-4, 2), B(0, -1) and C(3, 3) 7

® 7+32
(®) 10+542
(€) 114642
) 5+42

If the mid point between the points
{a + b, a = b) and (=a, b) lies on the line
ax + by = k, what is k equal 10 ?

(a) ab

(b) a+bh

(c) ab

(d) a-b

The acute angle which the perpendicular
from origin on the line Tx = 3y = 4 makes
with the x-axis s

(a) zero

(b) positive but not n/é

(¢) negative

(d) =/4
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(a) 4
b 9
(c) 12.5
dy 25
frefrfee s o frae df .
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(a) #w@ | att 2

(b) ¥ 2 v 3

(c) wam | X 3

d 1,2 @ 3

:’1“ 1,5.9,.13. 17, . % pdl 95 =0
?

(a) 2n-1

(®) 2o -1

(c) 4n=3

(dyaiem & 3 =g

[ =

I5.
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et I+J'i+3+ﬁ;+.,..., w Prefa

ol & 7
(a) AP
(®) GP
(¢) HP
(d) I7gm T & FE_TH
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(a) p=qws

(B pwqer

{c) pwg'=r

@p=q=r

A4, 2), B(0, -1) 3T C(3, 3) vl =R
e o s R 7

» 71+32

(®) 104542

(€ 11+642

(d) 5#&

aR Rrgsl (a + b, a - b) T (~a, b) W
™AW xry=kRwma &
k v xowr 2 7

(a) ab

() a+b

{c) ab

(d a-b

B x-Jy-4 WA W
WX I x-¥E R T oA Aok )

(a) =

) vvews fey 4 fl
(c) TWTHE
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20. Out of SO0 first year students, 260 passed

in the first semester and 210 passed in
the second semester. If 170 did not pass
in either semester, how many passed in
both semesters 7

(a) 30

(b) 40

(c) 70

(d) 140

21, If a matrix A has inverses B and C, then

which one of the following is correct 7
{a) B may not be equal to C

(b) B should be equal to C.

(¢) B and C should bc unit matrices
(d) None of the above

22. Three dice are thrown. What is the

probability that the same number will
appear on cach of them ?

(a) 176

(b) 118

(c) 1724

(d) 1136

For the next THWO (02) questions that
follow :

The equation formed by multiplying each
root of ax? + bx + ¢ = 0 by 2 is
x? + 36x + 24 = 0,

23, Whatis b : c equalta ?
(a) 3:1
(b) 1:2
{c} 1:3
(d) 3:2

24, Which one of the following is correct ?
(a) be =gt

(b) be= 36 a?

(€. B¢ = 72 a?

(d)y bc = 108 a?

L T

2012
For the next THREE (03) questions that
follow :

Let sin(A + B) = ] and sin(A -'B) 7 172,

where A.Be[ﬂ. :]

25. What is the valuc of A ?
()
(b)
(€

(d)

What i tan(A + 2B) . 1an(2A + B) equal
o 7

(2) -1

(&) O

¢y 1

(d) 2

What is sin?A - sin’B equal to ?
(a) 0O

(b) 12

(c) 1

(d)y 2

co|m &|d w|Ad o=

2.

28. If the latus rectum of an ellipse is equal

to half of the minor axis. then what is its
eccentricity ?

@ 2/43

® 143

© a2

@ w2
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o
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7
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(a) 16
(b} 1/18
(c) 1724
(d) 1736

21 39 yetw 0w
wftea = 2 ?

22, TR R
m f

At wrr TR o o 02 wet % fel -
TR ad it =0 R T W2 @
rmnmm X+ 36x 424=10
[

23. b:c Tred wome k F
(a) 3:1
(b) 1:2
) 1:3
(d) 3:2

s A My o lt & 7
(3) be=at

(b) B¢ = 36 a?

(c) Be= 72 o?

(d) Be = 108 o

-l
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A ot TR A AT 03) wer ®
am @t B dn(A + B) =l ™

sin(A - B) = 122, ¥ A.Biiﬁ.%].
25 AW oA v # 7
(¥
®)
(©)

S TE N SERIL -

{d)

tan(A + 2B) . tan(2A + B) FF® T
1

(a) -1

® 0

) 1

@ 2

sinfA - sin’B frEd woeT @ 7
(a) 0

(b 12

() 1

(d) 2

2. ot e Snfge w v e @ W
= 5y B, & Ind gebwa = R 7
@ 213

(b) 1743

) B2

@ w2

27.
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What is the probability that a leap
year selected a1t random contains
53 Mondays 7

(a) 17

(® 27

(e} 77366

(d) 26/183

What is the decimal number representation
of the binary number {11101.001), 7
(a) 30.125

(b) 29.025

(¢) 29.125

(d) 28.025

What is the equation of line passing
through (0, 1) and making an angle with
the y-uxis equal to the inclination of the
line x - y = 4 with x-axis ?

(a) y=x+1

(b) x=y+1]

e) x=y+2

(d) None of the above

What is “"['Fi] equal 1o ?

@ 2-43
b) 2+43
©) J2-43
4 -2

If 8 = 18% then what is the value of
4sin 0425007

(a) -1

(& A

(c}. 0

(d) 2

- 00

i“_

35,

6.

37
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Two poles are 10 m and 20 m high. The
line joining their tips makes anangle of
15° with the horizontal. What is.the
distance between the poles ?

(a) lﬂ(\ﬁ*l)m
® 5{e+2¢7)m

(© 2063+1}m

(d) Iﬂ[ﬁ-tl]u

The angle of clevation of a tower a1 a
level ground is30°. The angle of elevation
becomes 0 when moved 10 m towards
thetawer. [T the height of tower is 54/3 m,
then what is @ equal to 7

fa)  45°

b) 60°

© 75°

(d) None of the above

In a triangle ABC if the angles A, B, C
are in AP, then which one of the following
is correct 7

(@) e=a+b

(b) ¢?=a%+bl-ab
(¢) a2 =0 +¢c? -
@ P=a+c-ac

If sin™' 1+sin™ %-si.n" x, then what is
x equal to ?

(a) 3/5

{b) 45

{c) 1
(d) 0



29.

30.

3l

1

13,

mgRowe e fed sfoed 7 53 W
87 W witem w1 R 7

(a) 177
(b) 277

{¢) 77366
(d) 26/183

Rumerd wew (11101.001), = =
e Preow = & 7

() 30.125
() 29.025
{c) 29.125
(d) 28.025

(0, 1) # ot wft o y¥@ & T
X-y=4 & x-¥¢ ¥ §FA ¥ T, ¥V
T Tt Y w mheor . 8 7
() y=x+1

(b) x=y+1

c) 2x=y+2

(d) I 7 & o o

um(%] ed aowr 7

(@ 2-43
() 2443
€ 2-4
@ Ji-42

TR 0 = 18° &4 5in? 0 + 2 5in B ¥ 7T
g

(w) -l
(b) A
(c) o
@2

L =]

35.

36.

3.

5{4+2ﬁ)m
2003 +1)m

(d) 'Ill]'(\"i-tl}m

feft dmt 7 TR 3= w1 e
g1 AR A At 10m 9o 5T T
FW O P B ol B B F

53m @ w0 R wToec # 7
(a) 45°

(b) 60°

() 75

(d) Ivfes A | W A

ot A Pt ABC ¥ ®m A, B, C
aaiee Aof F & @ Preeffem 2 @
Mmoo wh @7

{fa) c=a+bh

(b) c* =2+ b - 2b

(c) a® =02+ ¢l - be

(d) b¥¥=al+elone

TR |in""l+s.in4%=sin"x. M x e

Cpac
(@) 3/5
(b) 4/s
(© 1
(d) 0
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If nnucﬁwanlB:-Jl; where 0 # 0, then

what is the value of cos 8 7
{a) 0
A

(b) < %

]
(<) 2

1
@ 7

From the top of a building of height h
meter, the angle of depression of an object
on the ground is 6. What is the distance
(in meter) of the object from the fool of
the building ?

(a) hoot

(b) htan©

(c) hcos B

(d) hsin@

If tan™' 2, an™' 3 are two angles of a
triangle, then what is the third angle ?
(a) tan™'2

(b) tan~' 4

(c) mf4

(d) =3

What is the maximum value of
sin 30 cos 28 + cos 30 sin 20 ?

(a) 1

(b) 2

(c) 4

(d) 1o

42,

i

=

431,

45.
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What is sin Acos Atan A+ cos Asin Acol A
equal 10 7

(a) sin A

(b) cos A

(c) tan A

(d) 1

What is the value of Ses’ un"(—'c'-] ?

W1
(8) 121/96
() 217921
(c) 146121
(d) 267121

Which one of the following is positive in
the third quadrant ?

(#) sin @

(b} cos 8

(¢) wno

(d) sec O

‘What is the value of sin(1920%) ?
(@) 172

(b)

(<)
(@ U

wlén &l

L

The angle of elevation of the tip of a flag
stafl from a point 10 m due South of its
base is 60°. What is the height of the Nag
staff correct to the nearest meter 7

{a) 15m

%) 16 m

{¢) ITm

{(d) 18 m
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42.

i

cos @ W A wn R 7
(a) 0

V3
(b 3

1
(¢) 3

I
(d) ;1

h #27 3@ wmw @ il @ W oy
F OUEH 9T T o 0 ) 9w T
:I?mtmﬁm-{n(ﬂnﬂ}
(a) heot®
(b) htan 6
() heos®
(d) hsin0

ﬁM&F*ﬁmm‘lzm'1
3@, O fwa Fuown 7

(a) tan'2

(b) tan~' 4

(c}) n'4

d) n3

sin 36 cos 20 + cos 30 sin 20 ¥ yfoEm
oW § 2

(@) 1

(®) 2

) 4

(d) 10

43.

45.

46.

2012

sin A cos A tan A + cos A sin A cot A
fa wra B 7

(a) sin A

(b) cos A

{c) tan A

(d) 1

s
H:’tln'(-l—l] w Fa R 7

(a) 121/96
(b) 217/924
{c) 1461121
(d) 2671121

fet wgefer F Frfofm & & o= o=
g4wms & 7
(@) sin 0
(b) cos®
(€) tan ®
{d) scc

sin(1920°) =1 =m =1 R 7
(a) 12

(b)
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sin@ cos@
What i ——=— ¢ —— equal 10 ?
= mﬂ*mﬂ

(@) 1
(b) 12
(c) 112
(@ 2

. If tan B * sec B = 4, then what is the

value of sin 0 7
(a) &17
(b) B/15
(c) 1517
(d) 23132

What is the value of

m{m"i+m"E} ?
5 13
(a) 6365

®) 3365

(c) 2265

(d) 11/65

What is the angle subtended by | 'm pole
at a distance | km on the ground in
sexagesimal measure 7

S0x

9

(k) ;iﬂtﬂﬁ

(¢) 3.4 minute
(d) 3.5 minute

(m) degree

If cot A . eot B = 2, then what is the
value of cos{A + B) . sec(A - B) ?

(a) A3

(b) 253

€ i

(d -1

52.

53.

55.

2012

Consider the following statements :

1. Every zéro matrix is a square mainx.
2. A matrix has a numencal value.
3. A unit matrix is a diagondl matnix.
Which of the above sislements is/are
correct 7

(s) 2 only

(b) 3 only

(c) 2and 3

(d) 1 andd

If the sequence {s ] is a geometric
progression and s, s, = 5, 3y, then what
is the valueof p ?

(a) 1

(k) 3

() 5

{d) can not be determined

In the expansion of (1 + x)* what is the
gum of even binomial coefficients ?

(@ 2°

(b) el

() 2*%

(d) None of the above

The value of the 1erm independent of x
¢ 9

inﬂmupluhnnf'lx’—%] i

(a) ©

(b) 18

(c) 48

(d) &4

What is the number of ways that 4 boys

and 3 girls can be scated so that boys and

girls aliernate ?

(a) 12

® 7

{c) 120

(d) 144
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sind 80 o wwe # 7
cosecB  sech

(@) 1

(b) 12

fc) 13

) 2

ot tan @ + sec 0=4 B, & sin 6 W W
oM 87
(a) 817
(b) 815
() 15/17
(d) 23/32

(a) 63/65
(b) 33/65
(c) 22/65
(d) 11/65

I m % gro @fla 9t | km gHww
e e v ¥ w7

¥
) Sox @
9
(b) e
(c) 3.4 famz
(d) 3.5 Raz

oft cot/A . cot B = 2,
cos{A + B) rsec(A - B) ®1 Wy v &7
(a) 1/3
(b) 243
(cy 1
(d) -1

53.

53.
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If the difference between the roots of
ax® + bx + ¢ = 0 is 1, then which one of
the following is correct ?

(@) b* = a(a + d¢)

(b) a* ~ b + 4¢)

(©) a? =cla+ &)

(@) b =abd + 4¢)

If one of the roots of the equation
x{4ax - b=0is ], then what is (a - b)
equal to 7

(a) -1

® 1

(c) 2

2

If @ and P are the roots of the equation
xf - q(1 + x) —= r = 0, then what is
(1 + @) (1 + ) equal 10 ?

@ 1-r

b) q-r

(c) 1+r

(d) q+r

If 174, Ux, 1/10 are in HP, then what is *

the value of x 7
(a) §
®) 6
(c) 7
(d) &

If fixy) = f{x)f{y), then fithmay be of the

form :
(a) t+k
(b) et +k
(€) tt+¢
) *

where k, ¢ are constants

If min-:*;,' where j=41, then

what is the value of A 7
(a). - 8

(b) 0

(<) 4

(d) 8

)

65.

67.
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If z=~%, then which one of the following

1s correct ?

(a) The real part of z is zero.

(b) The imaginary part of 2 is zero.

(¢) The real part of z is equal to imaginary
part of 2.

(d) The sum of real and imaginary parts
of zis z.

If A and B are two non-empty sets having

n clements in common, then what is the

number of common elements in the sets

AxB and BxA 7

(a) n

(b) o

(c)-2n

(d) zero

If A and B are any two scts, then what is

A A U B) equal to ?

(a) Complement of A

(b) Complement of B

(c) B

d A

What is the cosine of angle between

the planes x +y+2+1=0 and

Ix-2y+2z2+1=07

(a) 12

(&) 13

(c) 23

(d) None of the above

P 2 0 -1
eaf! on?;

what is B! A equal 10 7

| e

()
® |,

(c)

@ |,
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R alsbx+c=0 R T w e
i & ow Preffee A @ w aE
 ?

(@) b = afa + &)

(b) a¥ = b(b + &)

(c) a®=cla+ &)

(d) b2 = a(b + 4¢)

TR e xl+ax - b= 0 ¥ 0F I
| B @ (a-b) frd woar &7
{a) -1

®) |

) 2

4 -2

aft wfrere v gl #x)-r=0 F HA
a TP A A (1+a) () +p) b
qoay R 7

(@)
(®)
(c)
()

l=r

g=rT

1471

qQ+r

R 14, Ux, 110 HP. ¥ B, @i x W
m wn B 7

(a) §
(b) 6
(c) 7
(d) 8
R fixy) =
8 a2
(2) t+k
ib) ct+k
(c) *+c
(d) t
WE k, ¢ I L

R AsiBadt ot /T @A
* g

(a) -8

) 0

(c) 4

d 8

fx)fly). T () ow =v =
?

63.

65.

67.

2012

ot z=-7, @ fBffim & fA-w @

L

(a) z * awfeE wm v ¥

(b) z W wwirE am I R

(¢) z ¥ w=frs wm 2 & wEefs o
® wowt R

(d) z % v W@ wefis Wl @
'ﬂ‘lﬂ:tl

R A AT gEeE A R B ¥ »

sy g B, @ wEad AxB I

BxA % Ivofves weed! ) den v @7

(a) m

(®) n?

(¢). 2n

4 =

ot At B W

A ndA v B) Brmd

(@) A ¥ TT¥

(b) B ® qrw

(c) B

@ A

Wl x ¢+ y +z + 1 =0 s

W-y+2z+1=0 % diw 3 B A

wrom v B ?

(8) 12

(®) 13

(€) 273

@ Ivfm ¥ ® ¥ 4

A apeaw @, D
L 8

1 2] 0 -1
“A.[I I. lﬂTH:[t :],ﬁ
B' A fowd wrer B 7

S

{.) _] 1
iR
Eb] -1 ._.2-
=1 3]

© 11 -2
[ =] =3]

@ [ -2]
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Which one of the following functions is
differentiable for all real values of x 7

(a) Ix|

b x|x|

1
(¢) ITi

|
(d) =
Which one of the following differential

equations is mot lincar ?

:I":(
t.} Ef"'}'ﬂn

dy 1
xd:r.+? X

(b)
¥,

(x-¥) & 9
7 dy

COs" X —+y=lanx
dx

(€)

(d)

What is the sum of the squarcs of
direction cosines of the line joining the
points (1, 2, -3) and (-2, 3, 1) ?
(a) O
(b) 1
(c) 3

2

(d) ?2-6

What is the diameter of the sphere
xieylegl Ux+by-82-7=07
(a) 4 units '

(b) § units

(¢) 6 units

(dy 12 units

T2

73.

74,

715,

76,

2012

What is the slope of the tangent to the
curvex =P + -8, y=2d-NaSat
1=27
(a) 76
(b) &7
(e} 1
(d) 56

Which one of the following statements is

correct 7

(a) <" is an increasing function

(b) ¢*is a deercasing function

(c) ¢ is neither increasing nor decreasing
function

(d) #.is a coastant function

Ify =cos t and x = sin 1, then what is
dy ,
#nqu:lm.

(a) xy

(b) xly

) -y/x

(d) -xly

5

What is {uhur xdx cqual to ?
7

(1) (x*+1)?4c
1

(b) %{xzﬂll-rc

T

© 3030 ee

(d) MNone of the above
where ¢ is a constant of integration.

If flx) = x* = 6x + 8 and there exists a
point ¢ in the interval [2, 4] such that
f{(c) = 0, then what is the value of ¢ ?
(a) 2.5

(b) 2.8

(c) 3

(d) 3.5
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68. x ¥ W areefow wrht @ B, Prew 72, W x=Ce -8 y=20-2-5 #

7l.

a4l § & wYr.w v srerim R 7

X
@) Ix)
M) x|x|

|
(€) m

1
(d) =

Frfafen seom wlwest % @ sha-m
s W mfF R 7

d:y

(a) EI-# dy=0

dr . ]
xd”*r X

R | S
(x ﬂdx 9

(b)

2.9y s
m:hilr X

(a) 0
(b) 1
(c) 3

2
{dlm

Ml x?+ y? + P + Gy -8z -7=0
w oW e B

(3) 4 vk

(b) 5'T=

(¢) 6 T

(dy 12 7o

74,

t=2 ¢ aff @ gawa s ?
{a) 76
(b) 67
) 1
(d) 5/6

. Preafafirs sust L8 N wm o wh 27

(a) ¢ wdmr= s R

(b) ¢ W WA Ry :

(c) ¢ = & iy s 7 B Frm
L8 T

(d) & swTeT By

m,—mtmn-ﬁnm%m
L (%

(a) xy

(b) wy

(c) -y/x

(d) -y

" I{uhl}i:dx fred o B 7

1
(x2+1)? +¢
T
%{:’n}? +e

(2)

(b}
1 ?

() ;(xhljl-;

(d) 79w A & = T

o) ¢ WA ® o aaT f

76, ¥R f(x) = x? - 6x + § T strva (2, 4)

Y frg cw sfos @ v 2 B
fo)=0, M cemma v & 7

() 25

b 2.8

{c) }

(d) 3.5
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g =51
s x 1
6 3 1
of x ?

(a) 4 '
() 3

(c) 6

(d) 8

ul.lhmwhﬂ'tllﬁevllu

What is the order of the product

T

L]
. What is ?|lin:¢ld.u equal w0 ?
L)

(a) 2
o) 1!
(c) =
d 0

. The area bounded by the curve x = fiy),
the y-axis and the two Jines y = a and
y = bisequal to:

[

@ Jrye
-]

® Jrid
[ ]

5
ey xdr
(d) None of the above

2012

dy

8. If ]l"i:':'. then what is -% equal

I-
o ?

® =

-2
(b) x-1

-l--Ll
€& (x-1)?

Which 0ae of the following statemnents is
correct ?

{a) The denvative of a function f{x) at
a point will exist il there is
onc langent to the curve y = fx)
at that point and the tangent is
paralle] to y-axis

The denivative of a function f{x) at
& point will exist if there is one
tangent 10 the curve y = f{x) at tha
point and the tangent must be
paralle! 1o x-axis

The derivative of a function f{x) at
a point will exist if there is
one and only onc tangenl to the
curve ¥ = f(x) st that point and
the tangent is not parallel to
y-axis

(d) None of the above

(b)

(c)
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g -5 1
5§ x |
¢ 3 1

=2 @ x ¥ WA ¥

g ?

(a) 4
®) 3
) 6
d) 8

y

m o .
- o &
i = e

e [y :][

wft wn # 7
(a) 3 x|
® 1 =]
(e) 1 =13
(d) 3 =3

\ }Iﬂ'ﬂl‘lh Fud qoa ¢ 7

2
(a) 2

() 1
(c) =
d 0

. T x=fly), y-30, B tew yeq
:m;-btﬂﬂ'ﬂhhtm
?

b
@ [y
.
® [

b
© Jx&
L
(@) oo & & wrd 4

2012

8l wR y-:—j, A ¥ o e

™
g7

=2
) =

x=1

ﬂ} {l = ]}i

2

D P sl 3 2 em o W

$?

() @ Ry w0 s fix) @ ST
 sftmwa gm AR ww g @
y = f{x) ¥ =% 7ff & s 7@ el
y-5R & ®EET 8

() A ey o e fix) ® s
w1 afwen g o aw farg T 9w
y = fix) ¥ = =ff § v 7 wooff
x-¥0 ® wrow gh & wied

(¢) et Arg wt w7 fix) & sawmm
w1 sftaee P R g fog T =
y=fix) ® ws dt dm = A
Hﬂﬁﬁﬂﬂﬁy—ﬂl‘m
3R

@ I%e T & A M
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83. Consider the following :

85.

I [mn:u=: +e

2. Ilﬂ'dx-lﬂ’w

where ¢ is the constamt of integration.
Which of the above is/are correct 7
(@) 1 only

(b) 2 only

(¢) Both 1 and 2

(d) Neither | nor 2

lHow many tangents are parallel to x-axis
for the curve y = x¥ — dx + 37

(a) 1

() 2

() 3

(d) No tangent is parallel 10 x-axis

fim
x =»0

What is :’lin[i] equal 107
(a) ©

(b 1

(¢) 112

(d) Limit does not exist

Whatis [:,";] equal 1o ?
(a) 14

(b) ~hi4

(c) 112

(@112

=

87.

89

2012

What is the solution of the differential
1 ¢_’ I'

equation #*-: 07

(@) xy=¢

(b) x=cy

(€} y=ex

(d) None of the above
where ¢ 13 a constani

What is the degree of the differential

-1
equation ynn%{%) ?
(a) 1

(b) 2

{c) =1

(d) Degree docs not exist.

L —
Whatis [
H 1+x

+dx equal 10 ?

(a)
®)

(<)

(d)

ﬂlu“ “1H_‘ oA alH

milﬂHMﬂfthmﬂtufJ:=+lﬁ
with respect to x2 a1 x = 3 7

(a) 1S

(b) V10

() W20

(d) None of the above
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PAreafafe v Mo B -
l. Ihllld:eu-:

2 ]m‘mm‘u

o ¢ T W ower By
Tl ¥ N N wh 20
(a) ®ww |

(b) #w 2

(¢ 1 a7 2 ¥
OEENE R B

T y=xi-dx+3 % B Rerh whid
x-58 % gy § 7

(@ 1

() 2

(c) 3

(d) s & wotwe W enff o0 2

,‘:,ﬂ.h[ﬂ Pt wowt §2
{a) O

® 1

() 12

@) ®m w sfoy w2

t-ih-l [ff%] fawi e
(2) 14
(b) =i
(€) W2

(d. -112

§7.

89.

2012

e v Deleo oo
dx x

7

() xy=¢

(b) x=cy

(€) y=ex

() Tvgm A A A =
LT

ST Them r-lgw[%]-l ¥ o

wmy?
(@ 1
). 2
(© -1
(d) ™ 7 sforw 0 ¢

L

s
g
:

(a)

| slm

(b)

(€)

u-‘l'

(d)

S

x=3 @ x % WRe m ¥
et Ao ?

(@ /s

(k) 110

{c)} 1720

(d) svfer ¥ & & =



9l.

93.

www.eenadupratibha.net

If & (20,=1,b=(1,-1,0).=(5=1,1),
then what is the unit vector parallel to
i+b- in the opposite direction ?

(a) 12 o ;E

- - -

®) i-a;-ﬂ:

(¢) 3

(d) None of the above

If the magnitudes of two vectors & and b
arc equal then which one of the following
is corect ?

(8) (i+b) is parallel 10 G -b)

() (@+b)e@=by~I

() (d+b) is perpendicular to (3 - b)
(d) Nonme of the above

Consider the following in respect of the
function f{x) = | x -~ 3 |L;

1. f(x) is continuous M x = 3

2. fix) is differentiable at x = 0.
Which of the above statements is/are
correct 7

(a) 1 only

(®) 2 oniy

(¢) Bothl.and 2

(d) " Neither 1 nor 2

old

2012

94. If four dice arc thrown together, then what

is the probability that the sum of the
numbers appeaning on them is 25 7

{a) 0

® 17

() 1

(d) 111296

. Let O be the onginand P, Q, R be the

points ‘such that PO +0Q~QO0+OR.

Then which onc of the following is

correct 7

(s). P. Q. R are the vertices of an
Iy

(b) P.Q, R are the vertices of an isoscelcs

triangle
{c) P, Q. R are coliincar

(d) None of the above

: mhhvuuenrihg‘l-ihl,ﬂ?

(a) O
(b) 1
{e) 2
(4 13

. What is the value of m if the vectors

li-j-hi.;-iﬂ-ﬁ and 3i + mj+ Sk are
coplanar ?

(a) -2

(b 2

(c) -4

4 4
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94,

M E=@2L-),  pe(l,-1,0)
Ew(S,-1L1), ® deb-g % wwiw Avdm
foon & ood sRm w 2 7

(a) :

®

) ——
(0) 5w # 3 o

WD ule i i b P T
Nafreffeddd oweht?
(8) (@+b), G-b) * water

) @+b)e(i-b)=l

(€) @+b), @-b) * wpmw @

@) sfs o & ¥ -

WA fix)=|x - 3| ® TR | Preif
Tt fery ifd

. x=3 WU fix) & P

2. x=0 W flx) sawe })
s Fo Fowty wft 20 7

(a) #73 )

(b) #3732

() Yt 2 2=

() 2 a2

95.

2012

R o R owm ¥R W@ R @ T
W AR TR Fen W 9w 25 8
wifem s & 7

(a) 0

() 12

() 1

(d) 171296

wr @Rt B0 wefig @ o p, QR
7 w87 ¥ PO+ 0Q=Q0+OR |
e Proafafie o & ots o ot @ 2
()" R.Q, R e werng P v 2
(oY R Q. R ¥t wnitaz e & v

ki
fe) QR wtm 2
(@) 39m ¥ 2 B

Ihu!-%logﬁ w o v @7

(a) 0
® 1
(© 2
d 13

W owfm 2i-jek. Te2j-3k att
Ji4mj+Sk AR B, A m oW aw
wt?

(a) -2

®) 2

(c) -4

(d) 4
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L1 |@]=10, |B]|=2 and GeB=12, then
what is the value of |axb| 2
(a) 12
(b) 16
(¢) 20
(d) 24
99. If the vectors | - xj- yk and |+ xj+ yk
are orthogonal 10 cach other, then what is
the locus of the point (x, y) ?
(a) a parabola
(b) an ellipse
(<)
(d)

a cirgle
a straight line

1M.IlAiulqummmi;swhﬂulﬂ‘l-I
where | is the identity matrix, then what
is A~ equal 10 ?
(a) A+
(b) Null matrix
() A

(d) Transpose of A

101. What is the eccentricity of the conic
ax? 4 9y? w 144 7

(a)

(®)

el i

(c) 5

(d) 23

2012

102.1f two rows of a determinant are
identical, then what 15 the value.of the
determinant 7

{a) O
(0) 1
(c) =1
(d) can be any rcal value

103.1F A = {0, 1}:and B:= (1, 0}, then what
is A x B egual 10?
(@ {0, (1.0)
(®) {0, 9), (1, 1)}
(e) @, 1), (1, 0, (1, 1)}
@ AxA

104, What is the perpendicular distance of the
point (x, ¥) from x-axis ?
(a) x
) vy
() Ix|
(d) iyl .

105.1f ABCD is a cyclic quadrilateral then
what issinA+sinB-sinC-sinD
equal 10 ?
(a) ©
(b) 1
() 2
(d) 2isin A + sm B)

106. What is the value of
sin 420° . cos J90F + cos(-300°) . sn{-330M 7
{(a) O
M 1
(c) 2
(d) -1
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98. W |d|=10, |b|=2 wm Gebu12, na

Iiui' W OAH W g7
(a) 12
(b) 16
{¢c) 20
{d) 24

MR ERWm oo yk R P4xj+yk 0@
™ F maet @@ ey (x,y) W
ege v §

(a) vTaem

(b) Efgm

(¢} I®
(d) "t twn

1008 A of g w o 2 B

Al =], gl | weE argy B &) A
fwd w2

(a) A+l

(b) U areg

€) A

(d) A % ofied

101, wifea 4x? + 9yf = 144 9% Trigm v

R

(a)

(b)

(c)

Sl & »l&

(d}

102.3R fhh e o @ Pay wdew §,
M I ww W T v
(a) 0
() 1
{e) -1
(d) = & el o B o=m 2

103.9R A~ {0,1) ™ B~ {1, 0), @
AxB TFe aowg @ ?
(@) {(0, 1),.41, 0)
) {(0,9), (1, 1)
(€) (053, (1, 0), (1, 1)}
(d) AxA

104,06 (x, y) ¥ x.7 @ g7 7h wn
%

(2) =
) y
€ Ix|
() Iy

10538 ABCD #{ v =fs A W
sin A +sinB-sinC - sin D Bomi
et @ 7
(a) 0
(b) 1
(c) 2
(d) 2(sin A + sin B)

106, sin 420° . cos 390° + cos(~300°) . sin{~330%)
W oW oy R 7

{a) O
(b |
(c) 2
(d)y =1
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107. Consider the following statements .

1. 1%in radian measure is less than 0.02
radians.

2. | radian in degree measure is greater
than 45°,

Which of the above statements is/are

correct 7

(a) 1 only

(b) 2 only

(¢) Both | and 2

(d) Neither | nor 2

108. What is the maximum valve of sin® x 7

(a) -1
® 0
(€) 1
(¢) Infinity

109. The sum and product of matrices A and

B exist. Which of the following

implications are necessanily true ?

. A and B are square matrices of same
order.

2. A and B are nénssingular matrices.

Select the comect answer using the code

given below :

(a) | only

(b) 2 only

(¢) Both b and 2

(d)y - Neither | nor 2

2012

110. What is the arca of the rectangle having

1.

vertices A, B, C and D with pesition

vectors -;+%]+-li : ir%ii o,

i-%'iﬂl': and —i--;-]ui ?
(a) 172 square unit
(b) ! sguare unit
(c) 2 square umit
(d) 4 square unit

Theset A %{x : x + 4 = 4} can also be
represented by

(#) 0

M e

(¢} (o}

(d) (0}

112,11 a line makes the angles o, [, ¥ with

113. What is the

the axes, then what is the value of
1 + cos 2a + cos 2P + cos 2y equal 1o ?
(a) =l
(b) ©
(c) 1
@ 2

sum of the series

e cqual o ?
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107. Preafafem st o1 frare ffnd

1. gw am & 1°,002 T @ w
e i

2. Baft am A ) W, 45° B afts
B #

awfes well A wh omh 2R 7

(a) #34 1|

(b) #a= 2

(€) 1 afrr 2 2N

(d a1 3af2

108, sin®x 1 mftemg a1 w0 & 7

(a) -l
M) 0
(c) 1
(d) ®

109.3mg8t A MR B # o @ A &

shaca ¥ ProrRfe s A 2

#r-7 sfranfa. ww } 2

1. A &t B wma Wt o srE
Ly

2. A @ B = sy ¥

A R m sz W wim wT @ I

ﬁ:

(a) #a7 )

(b) ¥=w 2

() V&t 2 @1

(181 Mt h 2

2012

Y Vi b

10.RuT TR ~i+sieak, ind)edk,
pd

111

2 '3
_i-_jq.“ HM
Aﬂcmniﬂmnﬂm
g7

(@) 172 o o

(b) 1w wwrf

(¢) 2 TwTe

(d) 4wf wwré

s |-
-— 1“.
1 1_]"'

WeHd A = {x . x + 4 = 4) Preafafm
% & e oo W Prefa Ben @ wem
B

(a) 0

) ¢

) (o}

(d) (0)

112. 47 1§ T 96 ? q, g, y AW w=H

13 1-2eoce.

2, @ 1+ cos 20 + cos 2P + cos 2y W
WA W B 7

(a) -1

(b) 0

(c) 1

(d) 2

UL PR O S——

4 8
| 3
(a) 172
(b) 32
(c) 2
(d) 213
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114, Consider the following stalements

1. Two independent variables are always

uncorrclated.

2. The coelficient of correlation between
two variables X and Y is positive
when X decreascs then Y decreases.

Which of the above stalements isfare

correct 7

(a) 1 only

(b) 2 only

{¢) Both | and 2

(d) Neither | nor 2

115. A variate X takes values 2, 9, 3, 7, 5, 4,

3, 2, 10. What is the median ?
(a) 2
(b) 4
(€) 7
@ 9

116, What are the direction ratios of normal

10 the plene 2x - Y22+ | = 0 2
(0 (21,2}

1
1, ==,1
“’*( 2 )

(c) L=, l}
(d) Nenc of the above

For the next Four (04) questions that follow :
In a city, three daily newspapers A, B, C arc
published, 42% read A; 51% read B; 68% read
C; 30% rcad A and B; 28% read B and C;
36% read A and C; 8% do not read any of the
three newspapers.

117. What is the percentage of persons who
read all the theee papers ?
(a) 20%%
(b) 25%
(c). 30%
(d) 40%

118, What is the percentage of persons who
read only two papers ?
(a) 19%
b)) 3%
fe) 44%
(d) None of the above

119. What is the percentage of persons who
rcad only one paper ?
(a) 38%
(b) 48%
(¢) 1%
(d) None of the above

120. What is the percentage of persons who
read oaly A but neither B nor C 7

(a) 4%
(b) 3%
{c) 1%
(d) None of the above
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114, Pr=fafte wo w7 fam if
1. @ =y wv wly ymendfow ¥

2. A X @ Y & @ wpwde
TOF wAEE 8 W X gew 8 @t
Y o wem )

I FoAl A o wh R 7
(a) & |

(b) *7m 2

(c) 1 3T 2 3N
3o d2

!!!!!!

2,10 &1 aftrw w1 8 7
(a) 2
(b) 4
{c) 7
(d) 9

N6 5 2x -y +2z+ | =0 & ¥ &
R, s = @ 7

@ (21.2)

o {4

[c} {It-li}
(d) w5y X A

2012

Prefafem ot o (9) v ® B
Bt oot ¥ fm B wEE-TE ALB, C
gwlm w2 42% A = 2 $1% B R
. 68%C wh E 30% A BT
28% B T C wit B, 36% A T C T
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